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25 30 90 90 30 30
26 30 124 124 30 30
HEAR
27 30 118 118 30 30
28 30 132 132 30 30
25 | BEF% 1 1 0
26 | BETF& 0 0 0
AXaza=4s—1avE#| REFLXAR
27 | &EF%& 0 0 0
28 | &BEF% 1 1 0
25 | BEF% 5 4 3
26 | BETF& 8 7 3
BENEABEEAR
27 | &EF4& 3 3 3
28 | &BEF% 5 3 2
25 40 87 86 40 40
26 40 77 77 40 40
HEAHR
27 40 86 86 40 40
28 40 84 84 40 40
#HEFHZHR
25 | BEF% 32 27 8
26 | BETF& 36 30 9
RENEAZFEAR
27 | &EF% 49 43 11
28 | &BEF4& 41 28 8
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HEAS 29 25 64 64 27
B2
MENABDAZREAR] 29 | EF4L 10 9 1
HEASR 29 20 45 45 20
EEREER
BRENBEABEEAR| 29 | BEF4 52 38 4
HEAR 29 20 90 90 20
ANEXEEFR RENEABEEAR| 29 | BEF4 5 5 1
IREF L AR 29 | BEF% 0 0 0




